‘I ’I I: I Mounting instructions

9-21013-33

Thin client holder and monitor bracket

®

_rq.\@
;\\

A :
Za

S

11117



‘I QI I-. I Mounting instructions

9-21013-33

11117



‘I QI I-. I Mounting instructions

Screw M5x12 (4x) 1

o>
M

Screw M6x60 (1x)

- 2

Monitor attached

Nut M6 (1)

to this side

11117



‘I QI I-. I Mounting instructions

Nut M6 (1x)

]
?ﬁ Square neck bolt M8x25 (2x)

Washer M8 (2 /'e Thin client placed here
Wing-nut M8 (2x)

11117



Mounting instructions

Wi/

11117



